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Executive Su mmary,.f"""/

The mortality rate and medical cost
by the national health examination analysis

] Introduction

. In Korea, the national health examination has started since the mid-1980s. Since then,
the public interest in prevention and early detection of diseases has been increasing,
which in turn caused the rise in the national health screening program enrollee as well as
the demand for health testing business to conduct effectiveness assessment. In this study,
1) we analyzed whether the health examination could prevent disease occurrence and

mortality; and 2) we determined the medical cost.

[1 Method

: The occurrence, mortality risk, and medical cost expenditure of target group 1 with
atherosclerotic cardiovascular disease, ischemic heart disease, stroke, and all-cancer were
determined by the number of health examinations conducted between 1992 and 2000 (i.e.
1-2, 34, and =5 times). We additionally analyzed the occurrence and mortality risk of
target group 2 with atherosclerotic cardiovascular disease, ischemic heart disease, stroke,
and all-cancer using the period between the year in which the last examination was
conducted and 2011.

[] Results

1) Determination of the Occurrence and Mortality Risk of Diseases by Frequency
of Health Examination

: For target group 1 and 2, the risk of diseases increased among both genders who had

their health examinations more frequently, and participants who had their health

examination more than five times showed lower mortality risk than those who had not.

2) Determination of Medical Cost by Frequency of Health Examination



o

7t AL ATl ALED o|=H| X[Eo| et FEEM
: The average medical cost of target group 1 decreased as the frequency of health

examination increased (>5 times), and this trend was more obvious in women than in

men.

[] Conclusions

: In this study, the implementation of national health examination showed positive effect
on mortality risk and health cost; both mortality risk and health cost decreased as the
number of health examination increased. It is considered more studies should be
conducted on the association of health examination with preventive effect of disease

incidence.

\ National health examination, Mortality rate, Medical cost
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Ar g g AbgdRle] Ael= ICD (International Classification of Disease)-10 =
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Sl MM EE g ICD 10: 120-25

A =ES ICD 10: 160-69

A 2 ICD 10: C00-99
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741, dx=ol i Ay

8 2 SHASCVD) 2SI = - o LI AR} (1)

HR (95% Cl)

HZHZ 3= st (1,25]) E (3,43]) 2 (5% o[+
= A (N=891,339) N=173,819 N=313,004 N=404,516
Incidence (per 100,000) 367.4 5115 629.8
Model 1 1.0 (ref) 1.32 (1.28-1.35)+ 1.38 (1.34-1.42)
Model 2 1.0 (ref) 1.31 (1.27-1.35)* 1.36 (1.32-1.40)~
Model 3 1.0 (ref) 1.31 (1.27-1.35)+ 1.36 (1.32-1.40)+
0 X} (N=562,553) N=236,862 N=175,503 N=150,188
Incidence (per 100,000) 398.6 325.1 229.3
Model 1 1.0 (ref) 1.07 (1.03-1.10)+ 1.13 (1.08-1.17)x
Model 2 1.0 (ref) 1.07 (1.03-1.12)* 1.15 (1.10-1.21)
Model 3 1.0 (ref) 1.08 (1.04-1.12) 1.16 (1.11-1.21)x

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.

Model 3: Adjusted for Model 2 and Socio—economic status.

# 7-2. A7 e A=Y EH(ASCVD) 2

AYE - A

t

—_

2)

HR (95% Cl)

HZHZ 3= st (1,25]) E (3,43]) 2 (5% o[+
= At (N=987,907 N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 265.6 496.9 629.5
Model 1 1.0 (ref) 1.70 (1.65-1.74)+ 1.87 (1.82-1.93)
Model 2 1.0 (ref) 1.68 (1.64-1.73) 1.85 (1.80-1.90)
Model 3 1.0 (ref) 1.68 (1.63-1.73) 1.84 (1.79-1.90)+
0 X} (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 294.0 296.2 228.0
Model 1 1.0 (ref) 1.31 (1.27-1.35)+ 1.50 (1.44-1.56)
Model 2 1.0 (ref) 1.33 (1.28-1.38)* 1.55 (1.49-1.63)
Model 3 1.0 (ref) 1.33 (1.28-1.38)* 1.56 (1.49-1.63)*

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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I 8-1. Aol wE SELHAMZEE(HD) LYY T - AFER (1)

HR (95% ClI)

HZAHA sl st (1,25]) & (3,43]) A (53] o4
=XE (N=891,339) N=173,819 N=313,004 N=404,516
Incidence (per 100,000) 157.9 240.0 318.8

Model 1 1.0 (ref) 1.43 (1.37-1.50) 1.62 (1.56-1.69)+
Model 2 1.0 (ref) 1.43 (1.37-1.49) 1.59 (1.53-1.66)*
Model 3 1.0 (ref) 1.43 (1.37-1.49)+ 1.57 (1.51-1.64)
0f X} (N=562,553) N=236,862 N=175,503 N=150,188
Incidence (per 100,000) 158.6 128.6 86.5
Model 1 1.0 (ref) 1.09 (1.03-1.14) 1.22 (1.14-1.30)+
Model 2 1.0 (ref) 1.1 (1.04-1.17) 1.23 (1.14-1.32)
Model 3 1.0 (ref) 1.10 (1.04-1.17)= 1.23 (1.14-1.32)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3: Adjusted for Model 2 and Socio—economic status.

# 8-2. AZIATo W SYLMTEE(HD) LY - AFHER (2

HR (95% ClI)

HZAHA sl st (1,25]) & (3,43]) A (53] o4
=HXE (N=987,907) N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 108.9 224.3 3185

Model 1 1.0 (ref) 1.90 (1.93-1.98) 2.38 (2.29-2.48)*
Model 2 1.0 (ref) 1.89 (1.81-1.97) 2.34 (2.24-2.44)
Model 3 1.0 (ref) 1.88 (1.80-1.96)+ 2.30 (2.21-2.40)
0{ Xl (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 1107 113.8 85.7
Model 1 1.0 (ref) 1.39 (1.32-1.46) 1.78 (1.67-1.90)*
Model 2 1.0 (ref) 1.42 (1.34-1.50)* 1.82 (1.69-1.96)+
Model 3 1.0 (ref) 1.42 (1.34-1.50)+ 1.82 (1.69-1.96)+

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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=I7F detd AT AtTED 2| 2H| X|E0i| T
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-1, 4330l e MA HES UYAEE - AFHAR (1)
R

(95% Cl)

HZAHA sl st (1,23]) Z (3,43]) A (53] o4
=XE (N=891,339) N=173,819 N=313,004 N=404,516
Incidence (per 100,000) 131.4 174.5 200.4

Model 1 1.0 (ref) 1.24 (1.18-1.30)* 1.19 (1.14-1.25)«
Model 2 1.0 (ref) 1.23 (1.17-1.29)+ 1.18 (1.12-1.24)+
Model 3 1.0 (ref) 1.23 (1.17-1.29)+ 1.19 (1.13-1.24)+
0{ Xl (N=562,553) N=236,862 N=175,5083 N=150,188
Incidence (per 100,000) 147 1 1152 79.4
Model 1 1.0 (ref) 1.02 (0.97-1.08) 1.06 (0.99-1.13)
Model 2 1.0 (ref) 1.01 (0.95-1.07) 1.08 (1.00-1.17)=
Model 3 1.0 (ref) 1.01 (0.95-1.08) 1.09 (1.01-1.17)=

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3: Adjusted for Model 2 and Socio—economic status.

# 9-2. AZITo WE MAH HES LM

ok

T - AFARE (2)

R (95% CI)
HZHZA 3 st (1,25]) E (3,4%]) 2 (5% o[+
=Xt (N=987,907) N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 98.5 179.6 200.4
Model 1 1.0 (ref) 1.60 (1.53-1.67)+ 1.53 (1.46-1.60)*
Model 2 1.0 (ref) 1.59 (1.52-1.66) 1.52 (1.45-1.59)
Model 3 1.0 (ref) 1.59 (1.52-1.67) 1.53 (1.46-1.60)*
0 X} (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 112.3 106.9 79.0
Model 1 1.0 (ref) 1.26 (1.20-1.32)+ 1.41 (1.32-151)
Model 2 1.0 (ref) 1.25 (1.18-1.33)* 1.47 (1.36-1.58)
Model 3 1.0 (ref) 1.25 (1.18-1.33) 1.47 (1.37-1.59)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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HR (95% Cl)

HZHZ 3= st (1,25]) E (3,43]) 2 (5% o[+
= A (N=891,339) N=173,819 N=313,004 N=404,516
Incidence (per 100,000) 237.8 356.5 465.6
Model 1 1.0 (ref) 1.40 (1.35-1.45)+ 1.53 (1.48-1.58)
Model 2 1.0 (ref) 1.38 (1.33-1.43)+ 1.49 (1.44-1.54)
Model 3 1.0 (ref) 1.38 (1.33-1.43) 1.47 (1.42-1.52)
0 X} (N=562,553) N=236,862 N=175,503 N=150,188
Incidence (per 100,000) 4317 4513 469.6
Model 1 1.0 (ref) 1.18 (1.15-1.22)+ 1.38 (1.34-1.43)
Model 2 1.0 (ref) 1.18 (1.14-1.22)+ 1.38 (1.33-1.43)+
Model 3 1.0 (ref) 1.16 (1.13-1.20) 1.33 (1.28-1.38)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3: Adjusted for Model 2 and Socio—economic status.

#E 10-2. AT 3ol E HA

ot AT - AFCAL (2)

HR (95% Cl)

HZHZ 3= st (1,25]) E (3,4%]) 2 (5% o[+
= At (N=987,907 N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 185.9 3715 465.4
Model 1 1.0 (ref) 1.75 (1.69-1.81)+ 1.88 (1.82-1.94)x
Model 2 1.0 (ref) 1.73 (1.67-1.79) 1.84 (1.78-1.90)+
Model 3 1.0 (ref) 1.73 (1.67-1.78) 1.81 (1.75-1.87)+
0 X} (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 341.8 4238 467.5
Model 1 1.0 (ref) 1.48 (1.44-1.52)+ 1.90 (1.85-1.96)*
Model 2 1.0 (ref) 1.50 (1.45-1.55)+ 1.91 (1.85-1.98)+
Model 3 1.0 (ref) 1.47 (1.43-1.52) 1.84 (1.77-1.90)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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ot Aol ALED =] KBol h3t F

53
)
oY
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S [=]
- O o L= 1

of e A AT - AFAA (1)

HR (95% Cl)

HUAZ sl st (1,2%]) Z (3,43]) 4 (65 o|4h)
=X} (N=891,339) N=173,819 N=313,004 N=404,516
Mortality (per 100,000) 231.0 267.2 252.5
Model 1 1.0 (ref) 1.07 (1.04-1.11) 0.85 (0.82-0.88)+
Model 2 1.0 (ref) 1.06 (1.02-1.11) 0.83 (0.80-0.86)+
Model 3 1.0 (ref) 1.06 (1.02-1.10) 0.82 (0.79-0.85)
0{ X} (N=562,553) N=236,862 N=175,503 N=150,188
Mortality (per 100,000) 110.7 93.5 66.8
Model 1 1.0 (ref) 1.05 (0.99-1.11) 0.98 (0.91-1.06)
Model 2 1.0 (ref) 1.07 (1.00-1.14) 0.96 (0.88-1.04)
Model 3 1.0 (ref)

1.05 (0.98-1.12)

0.92 (0.85-1.00)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3: Adjusted for Model 2 and Socio—economic status.

# 11-2. 4730 wE A At

o] =
= 0=

- ATFAAL (2)

HR (95% Cl)

HZHZ 3= st (1,28]) E (3,4%]) 2 (5% o[+
= At (N=987,907 N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 254.3 343.3 252.7
Model 1 1.0 (ref) 1.11 (1.08-1.14)+ 0.68 (0.66-0.70)+
Model 2 1.0 (ref) 1.10 (1.06-1.13) 0.66 (0.64-0.69)+
Model 3 1.0 (ref) 1.09 (1.06-1.12) 0.65 (0.63-0.67)*
0 X} (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 115.6 103.4 66.6
Model 1 1.0 (ref) 1.07 (1.02-1.12)+ 0.86 (0.80-0.92)+
Model 2 1.0 (ref) 1.09 (1.03-1.15)* 0.83 (0.76-0.89)~
Model 3 1.0 (ref) 1.07 (1.01-1.13) 0.78 (0.73-0.85)*

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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ot Aol ALED =] KBol h3t F

E 12-1. Aol e A

o B BHASCVD) AU E - o 2o

AT
J

HUAZ sl st (1,2%]) Z (3,43]) 4 (65 o|4h)
=X} (N=891,339) N=173,819 N=313,004 N=404,516
Mortality (per 100,000) 365 40.5 36.3
Model 1 1.0 (ref) 1.03 (0.94-1.12) 0.76 (0.70-0.83)+
Model 2 1.0 (ref) 1.02 (0.93-1.12) 0.76 (0.69-0.83)+
Model 3 1.0 (ref) 1.02 (0.93-1.12) 0.74 (0.68-0.82)
0{ X} (N=562,553) N=236,862 N=175,503 N=150,188
Mortality (per 100,000) 14.7 10.9 5.8
Model 1 1.0 (ref) 0.99 (0.83-1.17) 0.83 (0.66-1.05)
Model 2 1.0 (ref) 0.95 (0.77-1.16) 0.85 (0.65-1.11)
Model 3 1.0 (ref) 0.94 (0.76-1.15) 0.82 (0.62-1.08)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3: Adjusted for Model 2 and Socio—economic status.

#E 12-2. A7 3ol E M=

EHZEEHASCVD) AtL2EE -

Palunds

&AL (2)

HR (95% Cl)

HZHZ 3= st (1,25]) E (3,43]) 2 (5% o[+
= At (N=987,907 N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 37.7 52.3 36.4
Model 1 1.0 (ref) 1.14 (1.06-1.23)+ 0.66 (0.61-0.72)*
Model 2 1.0 (ref) 1.15 (1.06-1.24) 0.66 (0.61-0.72)*
Model 3 1.0 (ref) 1.14 (1.06-1.24) 0.64 (0.59-0.70)*
0 X} (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 15.2 15 58
Model 1 1.0 (ref) 0.95 (0.82-1.10) 0.73 (0.58-0.91)+
Model 2 1.0 (ref) 0.92 (0.77-1.10) 0.71 (0.55-0.92)
Model 3 1.0 (ref) 0.91 (0.76-1.08) 0.68 (0.53-0.88)+

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.

_30_



B
!

g

o

I
ol

=

3T
-

T

o

it

oA XPAIR

a2 1.16¥1(0.98-1.37)

=

=

]

P Ay A7 (D 4
&l

‘A
07290(039-1.35) ke, AT (1] A9 A

T 1.38uH(1.16-1.65),

5]

=]
[

AZAR Sl wet dadd 23

g

|

-
T
-

588 AE A E

‘AP O

=

L

AT (D= W
0.854(0.54-1.34),

AR5
TR (2) BT ¢

1
T

o

=

AT (2)

=

ST
-

1

Pel ol s 5
1.219(1.03-1.42)

°

o

T

g

|

L.

¢ )
ok

RIRE AT

T 1.7490(1.50-2.02),
— 31 —

a2 0.7811(0.43-1.44) Skt ARt (2)9] A A

¢ )
el

0.9491(0.62-1.42),

-

T



=7 LEAZAZRIS| At2ED}t o|FH| X|&Eo| et AEEAM
E 13-1. 27 &0 WE EMHAMEES(HD) AIHAEE - AFHAXL (1)
HR (95% Cl)
HUAZ sl st (1,2%]) Z (3,43]) 4 (65 o|4h)
=X (N=891,339) N=173,819 N=313,004 N=404,516
Mortality (per 100,000) 10.3 15.1 15.4
Model 1 1.0 (ref) 1.37 (1.16-1.61) 1.16 (0.99-1.36)
Model 2 1.0 (ref) 1.39 (1.17-1.65) 1.18 (1.00-1.40)
Model 3 1.0 (ref) 1.38 (1.16-1.65) 1.16 (0.98-1.37)
0{ X} (N=562,553) N=236,862 N=175,503 N=150,188
Mortality (per 100,000) 34 2.3 1.2
Model 1 1.0 (ref) 0.94 (0.66-1.35) 0.82 (0.49-1.37)
Model 2 1.0 (ref) 0.87 (0.56-1.37) 0.77 (0.42-1.43)
Model 3 1.0 (ref) 0.85 (0.54-1.34) 0.72 (0.39-1.35)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval
Model 1: Adjusted for Age.
Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3: Adjusted for Model 2 and Socio—economic status.

E 13-2. xS ol E SENHAEEE(HD) AFLRIEE - 70 (2)
HR (95% CI)
HZHZ 3= st (1,23]) & (3,43l) 2k (55 0|4
=X (N=987,907 N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 9.4 18.1 15.3
Model 1 1.0 (ref) 1.66 (1.44-1.91)x 1.18 (1.02-1.37)*
Model 2 1.0 (ref) 1.75 (1.50-2.03)* 1.24 (1.06-1.45)
Model 3 1.0 (ref) 1.74 (1.50-2.02)+ 1.21 (1.03-1.42)
0{ Xl (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 2.8 2.3 1.1
Model 1 1.0 (ref) 1.04 (0.75-1.45) 0.88 (0.53-1.46)
Model 2 1.0 (ref) 0.96 (0.64-1.45) 0.83 (0.45-1.52)
Model 3 1.0 (ref) 0.94 (0.62-1.42) 0.78 (0.43-1.44)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval
Model 1: Adjusted for Age.
Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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E 14-1. A8 =0l e

A =HES Al

HR (95% ClI)
HUAZ sl st (1,2%]) E (3,43]) 4 (65 o|4h)
=X} (N=891,339) N=173,819 N=313,004 N=404,516
Mortality (per 100,000) 187 17.2 13.1
Model 1 1.0 (ref) 0.84 (0.73-0.96) 0.52 (0.46-0.60)+
Model 2 1.0 (ref) 0.83 (0.72-0.95) 0.51 (0.45-0.59)+
Model 3 1.0 (ref) 0.83 (0.72-0.95) 0.50 (0.44-0.58)+
0{ X} (N=562,553) N=236,862 N=175,503 N=150,188
Mortality (per 100,000) 9.0 6.6 38
Model 1 1.0 (ref) 0.97 (0.78-1.20) 0.88 (0.66-1.18)
Model 2 1.0 (ref) 0.94 (0.72-1.22) 0.93 (0.66-1.30)
Model 3 1.0 (ref) 0.93 (0.71-1.21) 0.90 (0.64-1.27)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.

Model 3: Adjusted for Model 2 and Socio—economic status.

H* 14-2. 4T3 =0 E

A =HES AL

- AT R (2)

R (95% CI)
HZHZA 3 st (1,25]) E (3,4%]) 2 (5% o[+
=Xt (N=987,907) N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 19.0 23.3 13.0
Model 1 1.0 (ref) 0.99 (0.89-1.10) 0.46 (0.41-0.52)
Model 2 1.0 (ref) 0.98 (0.88-1.10) 0.45 (0.40-0.51)
Model 3 1.0 (ref) 0.98 (0.88-1.10) 0.44 (0.39-0.50)*
0 X} (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 9.9 72 38
Model 1 1.0 (ref) 0.92 (0.77-1.10) 0.75 (0.57-0.99)+
Model 2 1.0 (ref) 0.90 (0.72-1.12) 0.76 (0.55-1.04)
Model 3 1.0 (ref) 0.89 (0.71-1.11) 0.72 (0.53-0.99)+

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval
Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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HR (95% Cl)

HUAZ sl st (1,2%]) Z (3,43]) 4 (65 o|4h)
=X} (N=891,339) N=173,819 N=313,004 N=404,516
Mortality (per 100,000) 733 105.3 122.0
Model 1 1.0 (ref) 1.32 (1.24-1.40) 1.25 (1.17-1.32)«
Model 2 1.0 (ref) 1.31 (1.23-1.40) 1.22 (1.15-1.30)
Model 3 1.0 (ref) 1.31 (1.23-1.40) 1.20 (1.12-1.27)
0{ X} (N=562,553) N=236,862 N=175,503 N=150,188
Mortality (per 100,000) 54.1 50.3 415
Model 1 1.0 (ref) 1.16 (1.07-1.26) 1.28 (1.16-1.41)
Model 2 1.0 (ref) 1.19 (1.08-1.30) 1.21 (1.09-1.35)«
Model 3 1.0 (ref) 1.17 (1.06-1.28) 1.16 (1.04-1.30)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3: Adjusted for Model 2 and Socio—economic status.

# 15-2. AXE o wWE MA 2 AITAEZ - ATFAR (2)

HR (95% Cl)

HZHZ 3= st (1,25]) E (3,4%]) 2 (5% o[+
= At (N=987,907 N=244,427 N=338,780 N=404,700
Incidence (per 100,000) 73.9 133.0 122.0
Model 1 1.0 (ref) 1.45 (1.38-1.53) 1.10 (1.04-1.16)*
Model 2 1.0 (ref) 1.44 (1.37-1.52)* 1.07 (1.01-1.13)*
Model 3 1.0 (ref) 1.44 (1.36-1.52) 1.05 (0.99-1.11)
0 X} (N=644,432) N=295,408 N=197,497 N=151,527
Incidence (per 100,000) 57.1 55.9 414
Model 1 1.0 (ref) 1.20 (1.12-1.28)+ 1.14 (1.04-1.25)
Model 2 1.0 (ref) 1.21 (1.12-1.31)= 1.21 (1.12-1.31)
Model 3 1.0 (ref) 1.18 (1.09-1.28)+ 0.99 (0.89-1.10)

*P-value<0.05

HR: Hazard Ratio; Cl: Confidence Interval

Model 1: Adjusted for Age.

Model 2: Adjusted for Model 1, Alcohol consumption, Smoking status and Exercise.
Model 3 Adjusted for Model 2 and Socio—economic status.
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=I7F detA AT AtLED 2| 2H| X|E0l| CHEt ASFEY

£ 16. AASS0l e WF XE o8| - oA TCHAX (1) (ebel: )
EEES
ABZA "5 st (1,28]) 5 (343)) A (53] ol
= A+ (N=891,339) N=173,819 N=3813,004 N=404,516
24 @Fessl W4 ®ozs A+ gEelsy

|
A et

41,172 1,406,815
8,049 2,314,551
5,602 3,646,998
6,939 9,000,827

99,963 1,329,837
22,024 2,227,025
14,591 3,406,230
17,574 9,213,430

163,477 1,265,492
37,642 2,260,643
23,853 3,095,111
28,616 9,588,208

A 2

25,067 1,309,324
4912 1,674,816
2,621 3,511,263
3,577 7,892,721

48,779 1,236,317
9,944 1,496,578
5253 3,255,397
7176 7,922,792

54,400 1,183,011
11,508 1,416,468
5777 2954372
7,574 8,071,620

45<Aget <60

I
A ef

16,105 1,558,559
3,637 3,178,553
2,981 3,766,340
3,362 10,179,797

51,184  1,418962
12,080 2,828,313

9,338 3,491,079
10,398 10,104,142

109,068 1,306,638
26,134 2,632,373
18,076 3,140,090
21,042 10,134,099

N=236,862

N=175,503

N=150,188

A ef

Falie S - ric L]

A% maclEs

A= "ozl

55,386 1,103,526
11,546 1,006,780

9,771 2,308,169
11,149 8,142,568

41,850 1,017,498
8,773 889,774
7,093 2,124,760
9,394 7,937,341

32,040 914,714
6,095 728,841
4585 1,887,834
8,773 7,599,003

30<Aget <45

Al phal st 13,515 908,853 11,340 862,480 16,638 833,034

SIE A S 2,283 561,308 1,874 504,483 2,771 482,708

A =HEF 1,829 2,156,751 1,404 2,006,895 2,112 1,810,064

MA e 4,060 6,938,198 4151 6,926,605 5732 6,989,477
45<Aget <60

A e

41,871 1,166,362
9,263 1,116,573
7,942 2,343,040
7,089 8,832,333

30,510 1,075,115
6,899 994,432
5689 2,153,848
5243 8,737,563

15,402 1,002,950
3,324 934,026
2473 1,954,252
3,041 8,747,901

2001HEE 2011E7K] & 11 K& 2|2H|o| (2= T 2H|+22) X ZH|+2kH H|)
+ Age in 2001.
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